o B S <t A PR B Y RS S H I R
AME GEHFAF) (V1.2) GBREAHH

. X 2.1l EPR2/TFTR 34 B -Fesriik
FHRE P HEEKE KRB AT

/v3: B11.KHZJYE = SUM(CO4. ZJYE)

2. k2.1l EFP@rHFeE TR 34 EFP-Far
FRPHHEFNBAZHAE 2B AT,

/v3: B11. KHRQMCZJ = SUM(C04.DJZJ)

3. k2.1l EF@E e ETR 3.8 EF-ME fifik
P ETR B W R R R AT

/v3.: Bl1.KHRZJE = SUM(CO8. RZYE)

4, 2. 11 EFPBEFEFAAETR 3.8 BEF-#E R
FR TR B P WAL 2 R e A1t

/v B11.KHRZSXFY = SUM(C08. GF+C08. JYYJ)

5., k2.1l EFBARFEFTR 3.8 EFP-ME fifik
FETR B B R A R AT

/v3.: Bl1.KHRZXF = SUM(C08. RZLX)

6. 2.1l EFBAHAMFAET K 3.8 B -BH RN
& TR B B H AR AT

/v3.: BI1.KHRZQTFY = SUM(COS8. QTFY)

7. R2ZUNEFPEF2FFTRIILEF-BFAMEL



P HTR B W R R e AT,

/v3: B11.KHRQJE = SUM(C11.RQJE)

8. R2LIIEFEARHASTR3 1 EF-Brifix
FHTR B P W R A 5 R AT

/v3: BI1.KHRQFY = SUM(C11.RQFY)

9, R2L I EFPBArEMFAFTR3 11 EF-#F i
i &k T HTR B P BBk E % R At

/v3: B11. KHRQQTFY = SUM(C11. QTFY)

10, k% 2.11 ZPRIEAELHET % 3.15 ZP-KF i
LRI TR B P B RIE & 7] Bl R AE .

/v3: BI1.KHBZJYE = SUM(C15. BZJKYYE)

11, & 2. 11 EFP@EFAGRFTER 3. 156 EP -~ At
LCRAFIFBRE P R % A6t

/v3.: Bl1.KHRZFZ = SUM(C15. RZFZ)

12, & 2. 11 EFP@AFEAHRFTR 3. 156 ZFP -~ At
LCRAFIFBR E P HiRF AR 61t

/v3.: BI1.KHRQFZ = SUM(C15. RQFZ)

13, % 2.1l WEFBEARSFTEFPBEH. 7
WA FEFERA. EPmEARF. EPf Lt

/& : B11.KHRZFZ = BI11.KHRZJE + B11.KHRZSXFY +
B11.KHRZXF + B11.KHRZQTFY

14, % 2.1l WEFBAARSFTEFBFad. 7



s FH A E PR AR e,
/~ 7 : B11.KHRQFZ = BI11.KHRQJE + BI1.KHRQFY+

B11. KHRQQTFY
15, & 2.12 S HERSENE&HEFT % 3.16 EF -1k
FRAXAFAILTERF AR E P WER S LN 2,
/v#: B12.DBPMRJE = (WTLX = '00' AND MMLB = '0B')
SUM(C16. CJJE)
16, & 2.12 YHEREZHLSHMF T X 3.16 E -k
F R AMITTK R T A E P ERGZH R 2.
/v B12.DBPMCJE = (WTLX = '00' AND MMLB = '0S")
SUM(C16. CJJE)
17, % 2.12 SHBEFEN&HEF T X 3. 16 £/ -iLH
Ji% 28 BR 4RT R R P TR &P MR SE R R 2 A
/v#&: B12.RZMRJE = (WTLX = '01')SUM(C16. CJJE)
18, & 2.12 Y HEFA K2 HF T X 3.16 £ -iL#
Ji% 28 BR 4RT R AR P TR &P 32 5 R A 2 AT
~3: B12.MQHKJE = (WTLX='02') SUM(C16. CJJE)
19, % 2. 12 YHBEFLeHFTX3.16 ZF LA
Ji% 28 BR 4RT R R P TR B P MR A 2 A
~3: B12.RZPCJE = (WTLX = '03') SUM(C16.CJJE)
20, %k 2.12 YHEAZHEHE T X 3.16 Z /7 -iLx#
Ji% 28 BR GHAT R AR TR B P BT L 7 B Rl o 32 W R & B



/v3: B12.RQMCJE = (WTLX = '04') SUM(C16. CJJE)

21, % 2.12 Y HEX A 52 HF T4k 3.16 EF L
J& 2B AT KR P TR B P TR LA L 7 L7 KR & .

/v3: BI2.MQUQJE = (WTLX = '05') SUM(C16.CJJE)

22, & 2.12 YHE#» T2 % TX 3.16 E/ ks
J& 2B ST R AR TR B P TR L 7 iR 7 T & X & 8.

/v B12.RQPCJE = (WTLX='06") SUM(C16. CJJE)

23, R2.IBEFPARERFFT X3 IEF-BHHMEID
XRVIAEEF A IEANARERF AT K3 12 P -F
FEAGIT TR T A E P TR I R4 B 5% a1t

/v B13.KHWIXF = SUM(C09. WIXF) + SUM(C12. WIXF)

24, R2.BBEFPOHERFTREFFTRIIEF-BEA
WILREFPHAEFP A IEFWNEE RTER AT L
3.12 B P -BarHAIL KR AEF A LA T E RN
R% &t

s &+ BI3.KHYJWEXF = SUM(C09.YJWFXF) +
SUM (C12. YJWFXF)

256, k3.9 oM E T EL M &M i,

v3R: €09.KCJE = C09. CHJE + C09.RZJE

26, RI.IBEAANMEEFTRERT . ODEOHEEND
SRR FZA,

R €09. RZLX = C09. WIXF + C09. YIYFXF + C09. YIWFXF



27. & 3. 12 xS TARELF. CHEOFRFA
EE R RFZA,

/v: C12. RQFY = C12. WIXF + C12. YIYFXF + C12. YIWFXF

28, k3. 13 ELRA NI 2 EZALEZEL2H AT 0,

/3 : CASE C13.CHLX IN ('06', '07', '08') THEN
CHJE>0

29, X3 B EXLRANFIHN&ELHELEHFT 0,

/~3.: CASE C13.CHLX IN ('04', '05') THEN CHJE=0

30, k3. 15 EFHERLAFTHELH. KKK
WE AT EZ Fu g DBk AL fi . Bl R 2 A0

/v3: C15.WCDBBL = (C15. ZJYE + C15. WDZZJ + C15. ZQSZ)
/ (C15.RZFZ + C15. RQFZ)

31, ERE 2K REL 4 F# (k2.4 % ZHLX A 103
H1 ZJYE + WDZJE % T %k 3.4 #9 ZJYE + WDZZJ Z F0),

e (ZHLX = '103")  (BO4.ZJYE + B04.WDZJE) =
SUM (CO4. ZJYE + WDZZJ)

32, FBERIEFIKF R E LS P (K 2.3 F ZHLX &
101 #y ZQSL + WDZSL % F % 3. 6 = SCDM 4 01 #7 ZQSL + WDZSL
Z Fu)

/v3: (ZHLX ='101") (B03. ZQSL + B03. WDZSL) = (SCDM
= '01")SUM(C06. ZQSL + C06. WDZSL)

CEINERIEFKFS R E L0 T (2.3 F ZHLX A



102 B9 ZQSL + WDZSL % T 5 3. 6 # SCDM 7 03 # ZQSL + WDZSL
ZF1)

AR (ZHLX = '102") (B03. ZQSL + B03. WDZSL) = (SCDM
= "'03") SUM(CO06. ZQSL + C06. WDZSL)

34, & 3.15 HyEkH fifit 5 & 3. 8 FH,

/v3&: C15.RZFZ = C08.RZYE + CO08.GF + C08.JYYJ +
C08.RZLX + C08.QTFY

35. & 3.15 W@k & fifit 5% 3. 11 F14,

/v3.: C15.RQFZ =C11.RQJE + CI11.RQFY + CI11.QTFY

36, X 39 WLHEERLHER 3. 10 WL HEL S
Bz R (FE LR,

37. 3. 12,3 1T WL HEEZLHEEXR 3. 13 WL H
BRHEZHEE GEEF L),

38, k3.8 5%k3.9RpFH(FEET ).

39, %3.11 5%3.12,3. 1T B TH (L BFET 4),

40, Z3.1WELHRENFETR2.7F,

41, % 3.8, RI VN MEFP REEFET X3 1 ¥,

42.%3.6, &3.7, %3.9, &3.11, %3.12, %&3.13,
*3.14, k3.16, k3. 17K RE (BIEHAK2KF K
bR/ EIERIEFIKF) REET R 3.3 F,

43, % 2.3, R24WKFPRENFETR 2.2 % (X
R P RAD .



44, BIl E#FEEGREKIEHFTHEZET C15 FA
H B T E Z A

45, BIl B P RE|KF 2% T C16 FHAZEF REKHK
bz fa,

46, Bll ZFP R4 4HET Clb ¥R E P K4 4HZ
Fu,

AT, X ENEF, C04 REKK 2% T C15 REKF 2,

18, M ENEF, C04 e KHFT C15 Fa s,

49. xt &A% F, CO8.RZYE + CO08.GF + C08.JYYJ =
SUM (C09. RZJE)

50 . ¥ & A % F , CO8RIX =
SUM (C09. WIXF+C09. YIWFXF)

51 . % & 4~ % pF , CILRQFY =
SUM(C12. WIXF+C12. YIWFXF)

52. C09, Cl2 &, HTH ¥ & FSRQ=SJRQ #9627, S/
i 2 LIBZ!=0.

53. C09, Cl2 k9, FTHHE LIBZ=2 529, LUK
J& FSRQ=SJRQ.

54, C09 % %, 4 F RZJE+WIXF+YJWFXF > 0, N LIBZ!=1.

55, C09 &, & LIBZ!=1, M| RZJIE+WIXF+YJWFXF > 0

56. C09 % &, #wE RZJE+WIXF+YJWFXF=0, M| LJBZ=1.

57. C09 &, #wE LIBZ=1, N RZJE+WIXF+YJWFXF=0,



58. C12 &, @& RQSL> 0 = WIXF+YJWFXF > 0, |
LJBZ!=1.
59.C12 &+, & LIBZ!=1, | RQSL>0 =k WIXF+YJWFXF>

60. #wFE C03. ZHZT = ‘057, M| C03. KHRQ=C03. SJRQ.
61. XENEFHNERIESH, SUM ((C16. WTLX=" 04" )
C16.CJSL) = SUM((C12.FSRQ= C12.SJRQ)C12.KCSL) .



